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2
Answer any two questions.

Group B: Non-Historical Prose Author

1 Answer the questions on the following passage:

[T354)

/ \ / \ \ / < / \
0 uévtor vuvdn é€leyes, 1O Tovs pLlocodovs padiws av
b / > / 3 ~ ol 4 b /
€0édew amobhviorew, éowkev TolTo, @ 2dkpates, aTémw,
b4 e\ \ b / b / b \ / ol \
elmep 6 vvvdr) €Aéyouer €UAdyws éxet, To Dedv Te elvar Tov
3 / < -~ ¢ ~ b / 4 5 \ \
empueloduevor Muay kal Nuds €éxelvov KTuaTa €lvat. TO yap
\ b ~ \ / bl / ~ /
Q1) ayavakTely Tovs ppoviuwTdTovs €k TavTns s Depamelas
S / bl K bl ~ > ~ 4 U / bl ~
amiévras, év 1) émoTaTolow avTdv olmep dpiaTol €low TOV
/ bl / / > / é b / > é
SvTwy émordral, Beol, ovk €yer Adyov: od ydp mov avTds ye
< ~ / 4
avTol oletar duewov émpeAgoeclar éledlepos yeviuevos.
> 3y o / \ b / >y N > / ~ /
aAA’ avomTos pev avlpwmos Tay’ av oimbein TaiTa, devkréov
5 b \ ~ / \ > \ / 4 b A 4
elvar amo To0 deomdTov, katl ok av Aoyiloito 6Tt 0¥ b€l amé
-~ > ~ / 3 Bl 14 4 / \
ye 100 ayallod ¢edyew dAN’ 61v pdAioTa mapauévew, Oio
S / N / < \ ~ 3 bl ~ N >\
aloyloTws dv pevryor 6 8€ volv éywv émbupol mov dv del
5 \ ~ < ~ 4 / 4 35 /
elvar mapa T avtod Pedriovi. kaitol oUTws, & ZwWkpaTes,
ol \ \
Tovvavtiov €lvar €lkos 1) 6 vvvdy €A€yeTor ToUS eV Yyap
/ b ~ > 4 / \ \
¢povipovs ayavaktely amobhvjokovras mpémer, Tovs O€
)/ 4 2
appovas yalpew.

“d)/ 8/7’ ?8) 14 113 0»« 0 7 \ 4 A
€pe 0M, 1) os, Tmewpabw mbavwTepov mpos vuas

N

> 4 N \ \ 4 b \ 7/ 2 b (13
aTrO/\o'ynoaGHaL 7 TPOS TOUS OLKAOGTAS. €yw yap, g{m, @
2Zyppia e kat KéPns, el pev pny ouny néew 77pw7'ov ,uev mapa
feods aAdovs codoils Te kal dyaboils, émeita Kal wap’
avlpwrmovs TeTeAevTnrdTas duelvovs TV évldde, Moikovy dv
0VKk dyavakT®v 7¢O OBavdTw: viv 0€ € loTe 611 map’ dvdpas

> / > / > / \ ~ \ b N 4
1€ éATilw adifeabar ayallols — kal TolTo pwev odk dv mwavv
duoyvpioaipuny, o1L pévror mapa BOeods deomoTas wdvv
b \ 4 ol b4 14 b4 3 -~ /
ayabovs néew, €0 loTe OTL elmep TL dAdo TV TOLOUTWY
duoyvptoaiuny dv kal TolTo. WOTE Owa TAUTA 0UY OpOlws
ayavarTd, A\’ eveAmis el elval Tu Tols TeTeAevTnKSOUL Kal,
womep ye kal mddar Aéyetar, moAd duewov Tois dyabois 7
Tois Kakois.”

You may, if you wish, answer both questions on the same author.
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PLato, Phaedo 62c—62e, 63b—63c

(a) Describe briefly the main points made in the dialogue from the beginning of the portion you

have read up to the start of the passage printed above. [9]

(b) Lines 1-16 (6 wévror vuvdy . . .

xaipew): trace the argument that Cebes is making in these

lines. Refer to the Greek in your answer. [15]

(c) Lines 17-29 (¢pépe o1

Tols kaxols): how strong are Socrates’ convictions here, as

portrayed by Plato? Making close reference to the Greek, discuss both the meaning of his
words and the way in which it is expressed. Provide at least four examples. [30]

© OCR 2009
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2  Answer the questions on the following passage:

X3 \ /. )y o ’ 29 3 )y o 13 4 / ~
un Toivuy kat’ avBpdmwv”, 7 6’ os, “ okémeL woévov TovTO,
> / [ e ~ b \ \ \ 7/ / \
el Bovder pdov pabelv, dAda kal kara {wwv mdvrwy kal
~ \ 4 |4 / / \ /
duTY, Kal cVAMBONY Ooamep €xeL yéveow mepl TAVTWY
” ) ¢ \ ’ ’ 5 3 ERE) -
Owper dp’ ovTwol ylyverar mavra, odk dAdolev 1 éx Tdv
bl / \ bl / 4 4 \ ~ 4 et \
evavtiwv Ta évavtia, 6ools TUYXAvEL OV ToloUTSY Ti, olov TO
\ ~ b ~ b} /’ \ / b / A4
Kalov TG aloypd €vavriov mov kal dikaiov adlkw, Kal dA\a
\ /’ 4 / ~ » ’ ol b ~
o7 pupla ovTws €xel. TovTO 00V okepwuela, dpa avaykaiov
14 3 3 / / 3 > \ / N
ocots €oTL T évavriov, undaudler dAdolev adTo yiyveslar 7
b ~ > ~ 3 / ) 4 ~ / / > 4
€k ToU avT® évavtiov. ofov oTav pellov Tu ylyvnTal, avdykn
bl bl / / / 4 ~ / 2
mov €€ €NdTTovos OvTos mpdTepov émeita wetlov ylyvesai;
/9
“vai.
(3 > ~ N b / bl / b4 /
oUKkoOY KAV éXatTov ylyvmTat, €k uellovos 6vros mpdTepov
4 / /
voTepov éNatTov yevnoeTal;
(138 </ " ¥
€oTw ovTw,” €.
(13 \ \ b b / \ S / \ b
kat unv €& loyvporépov ye 70 acllevéoTepor kai éx
/ \ ~ 29
Bpaduvrépov To OarTov;
3 4 2
TAVY Y.
3 4 / 3/ ~ / > bl S / \ N
7{ 8¢; av T xeipov ylyvyrar, ovk €€ aueivovos, kal av
/ bl bl /
dikaroTepov, €€ adikwTépov;”
~ /
“mds yap ov;”

‘

(1384 ~ 9 b e ~ 4 / 4
ikavds ovv’, édm, “éxouev TolTO, OTL TAVTA OUTW
/ 3> k) / \ b / / 2
ylyverar, €€ évavtiwv Ta évavtio mpdyuaTa;
4 2
“mravv ye.
“ 7 5 2 % \ / 5 5 A~ e \
7{ 8 ad; €ori TL kal TOWVSe év avrTols, olov ueradv
> / / -~ bl 4 ~ 4 / /
audotépwy mavTwy TOV évavtiwv dvolv GvTow OVo yevédels,
A € 4 ol A ¢
amo pev Tol €Tépov €ml TO €T€pov, amo 0 al ToD €TEPOV TAAW
b \ \ </ /7 \ / D / \
emt 70 €Tepov peilovos uev mpdyparos kal €AaTTovos wetalv
b \ / \ -~ 4 \ \ > /
avénois kal ¢liois, kal kalobuer ovTw 70 pev avédvesbar,
\ \ / 2
70 8¢ plivew;
(3 /9%
val,” épn.
(3 > ~ \ / \ / \ /
ovkovv katl Swakpivecbar kal cvykpiveshar, kai Poyeobar
4 \ -~
kal Oeppaiveslar, kal mavra ovtw, kav € uny xpwpela Tois
b / b ~ > ) / ~ ~ 4 /
ovouaow €viaxot, aAl’ €pyw yolv mavrtaxol ovTws €Eyew
b ~ / / b \ b > / / 7/ 5
avaykalov, yiyveolal e avra €€ aAMAwy yéveolv Te elvau
< / b 3/ 29
ekatépov els aAAAa;

2 Q) v

13 ’ ”
mavv ye, 1 oS.
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PLaTO, Phaedo 70d-71b

(a) Briefly state the objection made by Cebes to which Socrates is responding here. What points has

(b) Lines 1-10 (un Tolvov . .
lines. Refer to the Greek in your answer.

Socrates already made before this passage begins?

[l

. ylyveosBai;): state in your own words what Socrates is saying in these

[15]

(c) Lines 12-36 (ovkodv . . . 7 &’ 6s): show how Socrates uses both the content and the language

© OCR 2009

of these lines to move his argument forward. Support your discussion with at least four
examples from the Greek text.

[30]

[Quality of Written Communication: 6]
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Group D: Comedy or Historian

3  Answer the questions on the following passage:

evbavra 01 OcuioTokAéa amkduevor émt v véa eipeto Mymoididos
b \ b ~ 14 b4 / / \ \ b -~
avnp Abnvaios, 6 7. odu €in PefovAevuévor. mvbouevos 6€ mpos adTod,
ws €l dedoyuévov dvdyew tas véas mpos Tov loluov wkal mpo Tis
Iledomorvioov vavuayéew, eime “ ol Tou dpa, Mv dmdpwot [Tas véas]
amo Zalauivos [mept 0ddepwis érv matpidos vavuayioews]. kara yap 5
/ </ / \ 3 / > 4 /

moAis  €kacTor Tpélovtar, kal ovTe odéas EvpuvPuadns waréyew
dvvoeTar ovTe Tis avlpdmwr dAlos woTe pn oV dwaokedacljvar Ty

4 b / / < \ 3 / S b b b /
orpaTy, dmodéetal Te 11 EAdas afovAinor. dAA’ el Tis €oTL pmyar),
0 kat mepd Owaxéar Ta Befovdevuéva, My kws SVvy dvayvdoa
EdpvBuadny perafoviedoaclor dote adTod uévew.” kdpra <te> O 10
70 OcuioTorAél Tipece 1) vmobky, kal 0vdev mpos TavTa duenpdievos
3/ b \ \ / \ b / b / \ 3 / ¢ /
N éml v véa v Evpufiddew. amikduevos de épn €0élew ol kowdy

-~ - < 3 > \ b \ / > / b / /

7L mpypa cvppifar. o 8 avTov €s Ty véa éxéleve éaBdvTa Aéyew,
b bl / 3 ~ < / / / < /
el Tv ébédor.  évbadTa o BOeuioTokéns mapilopevds ol kataléyeu

éxeivd Te mdvra o Nrovoe Mymoupilov, éwvTod moreduevos, kal dAAa 15
moAa mpooTibels, és 6 avéyvwoe xpnillwv €k Te THs veos éxPrvac
cvAééar Te TODs oTpatnyovs és TO ouvédpiov.  ws O€ dpa

ocvveléxOnoav, mpiv 1) Tov EdpvBiuadny mpobeivar [tov Adyov] Taw
elvexa guviyaye Tovs aTpaTnyovs, moAXos Ny o OeuitoTokAéns €v Tolou

Adyotor ofa kapra Odeduevos.  Aéyovros e avrod o Kopivhios 20
\ b / < / o) X 4 3 ~

[orpatnyos] Adelpavros 6 RkiTov elme “d Oeutoriorlees, év Toio

b ~ < / 3 / 2 < \ b / b

aydot of mpoeaviorduevor pamilovrar.” o6 6€ TamoAvduevost épn:

3 < /4 > / > ~ 2 \, / \ bl 4
ol 0€ ye éykataleumduevolr ob oTepavovvrar.” <kal> TOTE eV Nmiws
\ \ / S / \ \ \ b / 3 b /
[mpos] Tov KoplvBiov auelipato, mpos de Tov EdpvBiadny éleye éxelvwv
ey ovkéTL ovOEv TV mpoTepov AexbeévTwyv, ws My amdpwot amo 25
Zalauivos dtadproovral TapeGVTWY Yap TAV CUUUAXWY 0DK Epepé ol
kéopov 00déva KaTnyopéew: 6 8¢ allov Adyov elyeTo.

HeroboTus, VIILL.57-60

(a) Give a brief summary of the events that have taken place from the point where the arrival of

the Persians in Attica is announced to the beginning of this passage. [9]
(b) Lines 210 (mvBéuevos . . . avTov pévew): discuss briefly three points Mnesiphilus makes
in his speech to persuade Themistocles to follow his advice. Refer to the Greek in your
answer. [15]
(c) Lines 10-27 («xapra . . . etxero): what does Herodotus tell, show or imply to us about
Themistocles’ character in these lines? Support your discussion with at least four examples
from the text. [30]

[Quality of Written Communication: 6]

[Total: 54 + 6 = 60]
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4  Answer the questions on the following passage:

4 \ 3 / / \ / b 7/ / \ < \
ws O€ €véBalé Te kal kaTédvoe, €VTUXIN XpPNOAUEVT) OLTAL EwWUTNY
ayabfa épydoator 6 e yap s ArTikns veos Tpuipapyos ws €ldé ww
b ~ \ b ~ / / \ / \ b / N
euPatovoav vni avdbpav BapBdapwr, vouicas v véa Ty Aprepicins 1
EXqrida elvar 1 avTopodéew éx 7adv BapBdpwr kal adToiot auivew,
amooTpéipas wpos dAas érpdmeTo. TOUTO WEV TOLOUTO AUTY) GUVTIVELKE
/ G ~ \ \ b / ~ \ 4
yevéobar <dote> draduyelv Te kal p1) amodéclar, TodTo S cuvéPy
Wote kakov épyacauévmy Amo ToUTwy avTAV ndAioTa €VdoKiuoaL
\ ~7/ / \ / / ~ \ /
mapa Hépén.  Aéyerar yap Paciléa Oneduevov palbletv v véa
euparodoar kai 07 Twa elmelv TOV mapedvTwy:  déomoTta, opds
Aprepioinr, ws €0 aywvilerar kal véa Tov modeulwy katédvoe;” kal
\ 3 / > > / 3 D / \ \ \ 4
Tov émewpéallar, el aAnbéws éori Aprepioins 7o épyov, kal Tods pavar,
cadéws To émiomuov Ths veos émioTauévovs: Tnv 8€ Owapbapeicav
NmoTéaTo elvar molepiny. Td TEe yap dMa, ws elpnTar, adTy
ouvvnretke €s edTUXMY yevoueva kal To TV €k Tis Kaduvwdikis veos
/ > / / / ~/ \ > ~ /
unodéva amoowbévra katiyopov yevéolar. Eépény O¢ elmeiv AéyeTau
mpos 710 ¢ppalduevar “ol uev dvdpes yeydvaosl pov yvvaikes, ai O€
yuvaikes avdpes.” TadTa pev Eépény dacl elmeiv. év € T mévw
/ S \ \ 3 < \ bl / < / L4 I\
ToUTW amo pev éfave o arparnyos Apiafiyvys ¢ dapelov, Eépéew éwv
adeldeds, amo € aAlot moAdol Te kal vouactol Ilepaéwv kal Mndwv
\ ~ 3 / bd 7/ / \ 4 </ \ /
kal TOV AN wv cvpudywv, SAlyor 6€ Twes kat EAMjvwv. dre yap véew
emioTauevol, Tolol al vées Owedleipovto, ol wy €v yewpdv vopw
amoAAduevor €s Ty Lalauiva Suéveov. Tav 0€ BapBdpwr ol moAdol év
-~ / 4 / b bl 4 3 \ \ < -~
) Oaddoon Sepbapnoav, véew ovk émoTduevor. émel O0€ al mpdTAL
3 \ bl 4 bl ~ < ~ 4 4 \ b
és puymy érpamovto, évbaiTa al mAeioTar diepbelpovto. ol yap dmicle
TeTaypévor, é 70 mpdobe TioL vnuol mapiévar mEpDUEVOL WS
amodeédpevol Ti Kal adTol €pyov Pacidél, THou operépnor vnmuol
pevyovonoL wep€mmTOY.

HerobpoTtus, VIII.87-89
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(a) Give a brief summary of events from the beginning of the battle of Salamis up to the point
where this passage begins.

(b) Lines 1-15 (s o€ . . .

[l

katnyopov yevéobai): show how Herodotus emphasises Artemisia’s

good fortune in these lines. Refer both to the content of these lines and to the language
in which it is expressed, and support your discussion with at least four examples from the

text.

[30]

(c) Lines 15-17 (Zépénv . . . eimeiv) and 22-27 (radv de PapPapwv . . . mepiémumrov): what
impression do we gain of the Persians in these lines? Pick out and discuss three examples.
Refer to the Greek in your answer.

© OCR 2009
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